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Algebra 2 Regents Review Packet #5

It the point (4, =2) lies on the graph of ¥ = f{x), then which of the following points must lie on the graph

futs inverse, 1e. y= 7 (x)?
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Solve the following system of equations algebraically.
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The quadratic function f{x) has a tuming point at (3,-8) If g(x)=/(x+7)=3, then at which of the

following does g(x) have a turning point? 4, \_,, S 2
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Given the cubic polynomial £ (x)=x" =53 ~4x+20 answer the following.

(a} Find  the x-intercepts  of  this  function {b) Explain why the graph below could nor
algebratcally. Show how vou arnved at vour represent that of f(x). C )
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can be written as p(x)+
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-, where p(x) 15 a quadratic
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polynomial and & 1s a constant.
(@) Determine the equation for p(x). Show how vou arrived at vour answer.
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{(b) Is x=3 afactor of 4x’ = 2x" +8x+ 102 Explain how vour reasoning.

Mo vemouader 70 WRan o dwide

The cubic polynomial below has zeroes at x=-4 and x=6 only and passes through the point (2.36) as
shown, Algebrascally determine s equation in factored form. Show how vou arrived at vour answer.
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Which statement is true about function f, g, and k?
)}6 F(x) and g(x) are odd, h(x) is even.

/sz( f(x) and g(x) are even, h(x) 1s odd.
@f(x) wodd, g(x) s netther, A(X) 15 even.
}4';/ f(x) 15 even, g(x) is nether, A(x) 1s odd.
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Which statement is incarryer for the graph of the function 24
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Which equanon represents a parabola with a focus of (0,4) and a dircetrix of
i e

A0 SOV RSN R T (0
a 2 4 @ i ¥

Based on her seatter plot, which regression model would be most appropriate?
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What is the value of X in the cquation 93%+1 = 27%+2;
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Algebraseally determine the values of X that satisfy the system of equanions below.

y=—2x+1
y=-2x*+3xr+1
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The results of a poll of 200 students are shown in the table below:

€ Preferred Music Style
(| Techno Rap Country
" Female/| 54 25 27
Male 38 40 18

For this group of students, do these dara suggest Lh at s.jtndu and preferred music stvles are independent of each other?
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State the solutions to the Lqu aton R(x) = k(x), rounded to the nearedt husndredth,
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33 After sunng out of the refngerator for a while, o turkey at roons temperatire (68°F) 15 placed into an oven at 8 am,,
when the oven temperature is 325°F. Newton’s Law of Heating explamns that the temperature of the wrkey will increase
praportionally o the difference benween the temperatire of the turkey and the temperature of the oven, as given by the
formula below:

T =T+ (Ty—-Te™
T = the temperature surrounding the obect 328
T, = the initial temperature of the object L¢3
t = the fime i hours
T = the wemperatare of the object afrer t hours
k = decay constant

‘The tarkey reaches the temperature of approximately 100°F after 2 hours. Find the value of &, 10 the weanst thoasandth, and
write an cquation to determine the temperature of the rurkey afier ¢ hours. St 27
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Determine the Fahrenhet temperature of the rurkey, o the manst degree, 213 pom.
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34, Seventy-two students are randomly divided 110 two equally-sized study groups. Each member of the first group {group
1} 15 to meet with a tutor after school nwice cach week for one hour, The seeond group {group 2}, s given an online
subseription to a tutorial account that they can access for 4 masimum of two hours each week. Students in both groups are
given the same tests during the vear,

A summary of the two groups’ final prades are shown below,
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A simulanon was conducted 1 which the students” final grades were randomized 300 tmes. The results are shown below.
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Simulated Group Mean Differences

Use the simulation to determine if there is a significant difference in the final grades. Explun vour answer.
bt 1
e Can>SC mka aont 2.7, ab AnpphaniCh,

ove fo Unance, one nd o, - 2.5

33. Grven z(x) = 6x¥ + bx? -~ 52x + 15, z(2) = 35 am‘ z2(~5) = Gjiilgcbmicaliy determine all of the zeras of z(x).
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36. Two version of a standardized test were given, an Apral version and a May version. The statistics for the April version
shown a mean score of 480 and a standard deviation of 24, The statistics for the May version show a mean score of 310
and a standard devianon of 200 Assume the scores are normally distributed.

Joanae took the Aprl version and score ia the interval 510-340. What is the probability, to the nearest ton thousandth, that a
test paper selected at random from the April version scored in the same interval®

~orenalcd £ (S0, 800, 480,24 ) = _ 049440 ...
.09 4

Mara wok the May version, In what interval must Mania score to claim she scored as well as Joanne?
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